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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

you turn that music down a little, please?
e Could
® Must
e Might
e Should
Correct Answer :-Could
2)
Question Stimulus :-

Fill in the blank with the correct option.

Thick carpet_____ reduce the echo in this hallway.
* must
* need
e ought to
e would
Correct Answer :-would
3)
Question Stimulus :-

Fill in the blank with the correct option.

Jorge didn't play well. He feeling tired.

e can have been



e cannot have been

* shall not have been

* might have been
Correct Answer :-might have been
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

We're planning to turn the smallest bedroom _____ an office.
e for
* into
e from
e by
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

The area in the park where the kids play is fenced _____ for safety reasons.
o off
* from
° by
* into
Correct Answer :-off
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

Do you play any other sports basketball?



* besides

®* beside

* along

® across
Correct Answer :-besides
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

Citizens have demanded a full inquiry the government's handling the
epidemic.

* into, of

e for, on

e from, for

e by, in
Correct Answer :-into, of
8)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® Most of the people
e of southern India
* do not know the Hindi.
®* No error
Correct Answer :-do not know the Hindi.

9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Every day the Sun

® rises in the east

* and sets in the west.

®* No error
Correct Answer :-No error
10)

Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
® Whole town
®* was destroyed
e by the earthquake.
* No error
Correct Answer :-Whole town
11)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you weren't afraid of spiders
e you would have
e picked it up and put it outside.

* No error

Correct Answer :-No error

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e I have not seen him since past twenty five years,

* so I cannot say with certainty

e whether he is alive or dead.

®* No error
Correct Answer :-I have not seen him since past twenty five years,
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If we will reach the airport

e on time,

* we will surely catch the flight.

®* No error
Correct Answer :-If we will reach the airport
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Before the teacher could
¢ finish the question,
* the students gives the right answer.

¢ No error



Correct Answer :-the students gives the right answer.

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e I wishI have

* Jearnt swimming

e when I was young.

®* No error
Correct Answer :-I wish I have
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

David’s neighbour said, “Do you like to play golf”?

e David’s neighbour asked if he likes to play golf.

* David’s neighbour asked if he has liking for playing golf.

e David’s neighbour asked if he liked to play golf.

e David’s neighbour asked if he like to play golf.
Correct Answer :-David’s neighbour asked if he liked to play golf.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The king said to the prince, "You must go the forest and remain there till your father
calls you back”.

* The king told the prince that he must go to the forest and remain there till his
father called him back.



* The king told the prince that he could go to the forest and remain there till his
father calls him back.

* The king told the prince that he shall go to the forest and remain there till his
father will call him back.

®* The king told the prince that he must go to the forest and remain there till his
father will have called him back.

Correct Answer :-The king told the prince that he must go to the forest and remain
there till his father called him back.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The Priest said to the man, “All your faults will be pardoned if you confess them”.

¢ The Priest told the man that all his faults will be pardoned if he confesses them.

The Priest told the man that all his faults will be pardoned if he confessed them.

The Priest told the man that all his faults would be pardoned if he confesses them.

The Priest told the man that all his faults would be pardoned if he confessed them.

Correct Answer :-The Priest told the man that all his faults would be pardoned if he
confessed them.

19)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Did he remember the date and time?
* Is the date and time remembered by him?
¢ Has the date and time been remembered by him?
* Had the date and time been remembered by him?

® Were the date and time remembered by him?

Correct Answer :-Were the date and time remembered by him?



20)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The girls were digging a hole in the ground.

* A hole has been dug in the ground by the girls.

A hole were being dug in the ground by the girls.

A hole had been dug in the ground by the girls.

A hole was being dug in the ground by the girls.
Correct Answer :-A hole was being dug in the ground by the girls.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The workers have been punished by the Management for the negligence of duty.

e The Management has punished the workers for the negligence of duty.

The Management have punished the workers for the negligence of duty.

e The Management has been punishing the workers for the negligence of duty.

The Management had been punishing the workers for the negligence of duty.

Correct Answer :-The Management has punished the workers for the negligence of
duty.

22)
Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
e He likes to travel by air as he is always short of time.
®* He likes to travel by the air as he is always short of time.

e He like to travel by the air as he is always short of time.



®* He like to travel by air as he is always short of time.
Correct Answer :-He likes to travel by air as he is always short of time.
23)
Question Stimulus :-
Fill in the blank with the correct option.
He has given me documents to read before the presentation tomorrow.
°* few
* afew
® the few
* a little
Correct Answer :-a few
24)
Question Stimulus :-

Fill in the blank with the correct option.
The teacher called _______ students who were sitting in the class to the staff room.
°* few
* afew
* the few
* a little
Correct Answer :-the few
25)
Question Stimulus :-
Fill in the blank with the correct option.

He needed help from me.

e little

e a little



e the little
o few

Correct Answer :-a little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill,"” said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."

A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid."

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!”

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

What does the word ‘haunches’ mean?



The back legs of an animal

e a hump at the back of an animal

a prolonged tail
* None of the above

Correct Answer :-The back legs of an animal

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill,” said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."”

A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid."”

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!"

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"



"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

What does the word ‘altogether’ mean?
e Completely
* Partially
e Separately
* None

Correct Answer :-Completely

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill," said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."”

A Wolf accustomed to moving his own cubs can, if nhecessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid.”



The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!”

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

What is the meaning of the word ‘twitching’?
* To make a sudden small movement with a part of the body
e Itching or scratching
®* Snoring or making loud noises
®* None of the above

Correct Answer :-To make a sudden small movement with a part of the body

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill," said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."

A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with



the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid."”

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!”

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

Why did father wolf drop his haunches?
®* To get ready to jump
®* To rest for a while
®* To stand still

® None of the above

Correct Answer :-To get ready to jump

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill,” said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."”



A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid.”

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!"

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

Why did father wolf stop in the middle of his jump?
* Because he saw a man’s cub
e Because he was frightened
e Because he was extremely tired and lethargic

® None of the above

Correct Answer :-Because he saw a man’s cub

Topic:- Hindi
1)

Question Stimulus :-
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2)
Question Stimulus :-
Frafafaa e $t wFyde tes 3P i g T agfawed uxAl § wdt fawer &1 9a #¢)

fagTue war o asil I Iafa R & 8, W g Yy & fog 3R off Sid=m @1 wrar § T g S aren
g, fage, A¥efa ok wiftw g@1 Saa faga= Fa1 & L &t IuahT 7F oW, 39 ot e i 9 war
3APT WIAT SUYNT BT 81 Tga-l Rreror Twume & o givefe Gxurs &1 fagmu= g1 ot fid & +5 '
[ STel, S od W9 o1 971 39 a3 & 9 & el o aren ) WiRe AR @ yaiRe giew aren
ATd 3THT & Ufd WIR® 81 &1 Wol el B @ ¢l TR 3 ardt I § 98 $aT & Hel 31 98
faanfial &1 fayfaenea & Steria TuRIE w < 3R & oW, 9% Fad 1 W) Ut /Im-enuet R
ST TP & Arf ], o & smara-frafa @1 st yRY Fifvel gua E-ua & R faf@ s
AT TRHRIET §HT RIS TR PR TS T @R (e HN-"G 8 Fed g3 afed vaadr ¢ 5 N,
THaAd] BT IRT I IS & AR 91 dlell Ul B §, P 31 & WAed i Iom ¥ d7 s9 fa=m
, ¥F 1R @S g, o SRR 3t Yor ufawr & 9 v @t aft-vare W99, 39
39 Yo & Faiur &1 37 ara erht & A= are FAofaret &) 31 g oo wadht soe Wt smazaear
Tt 7a yfom)” iR V-1 IUIRNT 1Y B T ¥ et R aus ot foreg W
TRI® el # foran grm-uife # Sifisfa Y@ 9l & $9@T "Il |igA a9 @ SR geo-9e,
¥¢d-9d g8l a% Ugd 9l f 919 TP geeT I8 SRUT A geg- SwdY W ST 3R Yue gerdr
mﬁmwﬁ,ﬁrnmmﬁ%wmwwwwﬁﬁ@mﬁgﬁ
e I6HT Al Al IR HaR & A1gH A e §1”7

%
%%%w%iggg

%] ot oS

3
iy
d9.85T%

E

3ot fRreror JxTd o -



e Jiverimar @t Riem A ¥
o HivREaT I Abd! Bl
o Hiygear dwusfi 1 Rz 9 7l
o Wivaear & g w sigw wwmd )
Correct Answer :-Hiuaiiedr Hwursi &1 fagma= a1 gl

3)
Question Stimulus :-
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4)

Question Stimulus :-
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THAd] BT RT 99 IS & AR I drdl HU- B 3, FfP Il & Meared o IRum A A7 39 fo=m
[T UlL........ I” faw] & #ieR @S BN, RFd SRR @1 e ufawr & - ugl @t y

39 Yo & Futor &1 37 ara erht & A= are FAufaret @) 81 avg oo e et Wit srazaearsit
ara gl &1 R Fft wa yfem)” i 9-U IUR B1Y H Sman $él el JoX W It g R @
IRI® HeRT # forEn ghn-wife # Sifief T arall &) 35T ATt |IgA drdl 31 TP IR goo-He, o
¥gd-ded QT ad Ugd I & 99 TP el 99 SRU A geg SAdY WX A 3R HUT geIar Sud
mﬁmaﬁuaﬁmﬁéﬁqnmmﬁ.mwwmmwwﬁmﬁﬁﬁﬁ-“
g ISPR I Wl TG HaR & A9 o @Il §17

%
3

pif ok
h g?w%i%ﬁﬁ

. d
%iﬁ%ﬁ%@%

Tt & yged “HEId”’ BT 8l 6iU-faug ok SuT yeR FafifeEd gl
* HE + N9 - W WY
* TR + Ud - uA |fY
* HE: + Iq - fawet w@f
* HEl + S - W Ay
Correct Answer :-Hgl + 34 - ¥R Iy

5)
Question Stimulus :-
Frafafaa ez ot Fyde es 39 i g T agfawad uxAl § Ogt fdwer &1 9 #¢)

AU war forg asi A Safa o W 8, 399 g Yiaw & fog oiv off sid=m @1 wraT @ 9T g S arel @ Wi
fRien, fagme, Wxpfa 3R AR 71T Faa fagTu= Fon & g & ITahT 3@ S, 37 ot o off 39 war & f
D1 W1 YN BT 81 9ga-dl Rreror Jwmg § o Fivgias dwusi &1 fagma= g1 s §idt & +5 dast o
mm,Wmmmmmwm%qmﬁvﬁnﬁeﬁ?mﬁmﬁﬁrﬁwﬁmﬁwwvﬂﬁ
ATd 3T & Ufd WR® 81 &1 Bl 3igT $X @ 81 AR A ad T & I8 HaAT §f HeH 3T 98 JAr
faenfiat ®1 fayfdeem & deia TuaRe ) <t SR/t § s, Sud o @14 W Ut wwm-"srust Ram &
ST T & A7l ], S & smard-fafa &1 dur yRY $ifve gua E-ua & e faf@w” ' T snfasere @1
AR GIPIAT §3T Cefifasi W SR PO 9 A [YdeT UM-"43t I8 Ped g _glie uawd ¢ 6 & vaa &1
AHadT BT IRT 4G 798 P AR g9 arel U Bl 8, FifPp I8l P Weaed 3N IRom ¥ 79 39 fa=m
, ¥ AfR @2 B, R SRR 91 Gox ufawr & = udh wft enft-vare Rl s
39 Yad & Fmior &1 37 @ erht & A= are fAofaret &) 81 avg won et et Wt smazadarsit
it g yferw” iy TA-VQ IU=I B1Y § AT Bl APt GR gwe B foreg wR
TR® ) A R ghm-wifeey o SRy Y@= aral &) 3aT ATht Age aral 3t
¥¢d-9¢d g8l a% Ugd 9 f 99 U geeT 99 SRUM | geg SEdY WX ST 3R YUT gerdpr SUd U @I
umﬁ'mam?b%frr,ﬁrwgmﬁ.mwmmmwwﬁmﬁm-“m
g ISP I Wl $THIG HaR P A9 A g §17

:
g



SURIS TN BT Faifie Iuged e gim-
o a3 & BrdwH
* CRR HUAT BT YT
o fagmo g
o fagmU o Wi

Correct Answer :-fagma= g

6)
Question Stimulus :-

Frafafea sroaw $ aFyde Teh U A g T ggflawadl uxAi & 98 fiwer &1 97 #)

Wd @1 4Rl 99 7 §oR, To 7 ATg-eHl |
gfpan ard, arat 9,

TP BU B ST,
qwd TEl 8 Ui

TAAT IR’ TA-T7F, WTE WR-UR T |
qgdl, gga, 7, 7,

ga & wid-aig|

3T BT 3T 8 PIS,

3R = SeT AT

S G Y W1 HSdT, 99 el 3 @I
wifa 9y wR i &,

9 WR AU

TqHAT $t JRAR &,

A Pt YRIRY T

@ AR MY Rt R, THS S-S
frdt 3 = Suenen 39 gt ¥ |



AP DI ol 81 TPpdr?
* TSl BHd Bl SHA arel
* TSI B dI arel
o TP BUW @ qralr
* TS BHA UHM arell

Correct Answer :-Us! B3d & 94 a1l

7)
Question Stimulus :-

Frafafea sream $ aFyde Tes U A g T ggflawad! uxA & 98 fiwer &1 97 H3)

Wd @1 4Rl 99 7 §oR, To 7 ATg-eHl |
gfpan ard, arat 9,

TP BU B ST,
qwd TE B |

TAAT I’ TA-T7F, WTE UR-UR G|
qgdl, gga, 7, 7,

ga & wid-aig|

3T BT 3T 8t PIS,

3R = SeT AT

S G Y W1 HSdT, 99 el 3 @I
wiIfa 9y wR i &,

9 WR AU

TqHAT $t JRAR &,

A Pt YRIRY T

@ AR MY 4Rt R, THS DHI-HIHAT
frdt 3 = Suenen 39 gt ¥ |



-2 R B W AT -HTeaizt & MUR WR e ®IF 3t gid sifvne-

° 3
o Ml
Correct Answer :-dod

8)
Question Stimulus :-

Frafafea sroaw $ aFyde Tes U A g T ggflawad! uxAl & 98 e &1 97 #3)

Wd @1 YRl 99 7 §oR, To 7 ATg-eHl |
gfpan ard, 3t 9,

TS BUd B SHAT,
qwd &l 8 |

AT T’ §9-91F, W HI-UR g1
g, gga, T, H,

ga & wid-aig|

3T BT 3T 8 HIS,

3R = Ser AT

S G Y W1 HSdT, 99 el 3 @I
wiIfd 9y wR i &,

9 TR AU

TqHAT $t JRAR &,

A Pt YRIRY T

@ AR MY 4Rt R, THS S-S
frdt 3 e Suenen 39 gt ¥ |



o YRRy

Correct Answer :-HTRY

9)
Question Stimulus :-

Frafafea sroaw $ aFyde Tes U A g T ggflawad! uxAl & 98 e &1 97 #3)

Wd @1 YRl 99 7 §oR, To 7 ATg-eHl |
gfpan ard, 3t 9,

TS BUd B SHAT,
qwd &l 8 |

AT T’ §9-91F, W HI-UR g1
qgdl, gga, T, H,

ga & wid-aig|

3T BT 3T 8 HIS,

3R 7 SeT AT

S G Y W1 HSdT, 99 el 3 @I
wiIfd 9y wR i &,

9 TR AU

TqHAT Pt JRAR &,

A Pt YRIRY T

@ AR MY 4Rt R, THS S-S
frdt 3 e Suenen 39 gt ¥ |



PHI-DIT S THDI?
* §F YR W RSP Ia¥M
* HF YTl R HAYI IAWT
* E YRl WX TR Jawm
* FF Rl U YTER IJaM

Correct Answer :-9d 43dl U T IaT

10)

Question Stimulus :-

Frafafea sroaw $ aFyde Teh U A g T ggflawadl uxAi & 98 fiwer &1 97 #)

Wd @1 4Rl 99 7 §oR, To 7 Ag-eHl |
gfpan ard, 3t 9,

TP BU B ST,
qwd TEl 8 Ui

TAAT IR’ TA-T7F, WTE WR-UR T |
qgdl, gga, T, 7,

ga & wid-aig|

3T BT 3T 8 HIS,

3R = Ser AT

S G Y W1 HSdT, 99 el 3 @I
wifa 9y wR i &,

9 TR AU

TqHAT Pt JRAR &,

A Pt YRIRY T

@ AR MY 4Rt R, THS S-S
frdt 3 e Suenen 39 gt ¥ |



™ HY BT AT Difore-

o f A frdt / 9T U F1 wIw g &
o Hfa A U A A1 Iuw= &7 Wew AT @

o &f3 A R A 3 IUSA FT Hew far &

o By A A A o SuSA &1 Haw T @
Correct Answer :-&fd 3 fidt ¥ 941 Iue &1 dewr faar @

11)

Question Stimulus :-
"wU o e gera &1 onf 2-

* gSt BT ATd
* I &1 M
* 3T BT aRT
* 16 BT YRI
Correct Answer -39 &1 |19

12)

Question Stimulus :-

ArpifaT o1 orf -
e # yafed 3fR

3nyaferd Sfdd

o omrd

o'lla'[zf

Correct Answer :-dl% ¥ ydfad 3

13)

Question Stimulus :-

U P Mg 3 BT 8-
o wfarfta



* Irifdre

o IJWIT QA

o T A DI T
Correct Answer :-wfifi

14)

Question Stimulus :-
"SI | PIH-A1 T &-

* [YH qgEY

o et gy

* JT TGEY

o FEH aUE
Correct Answer :-9wHl &9

15)
Question Stimulus :-

‘Seminar’ ¥ &1 Je! Y 8-

Correct Answer :-dmgt

16)

Question Stimulus :-

e GuTfed $ & R Suge v -
® Expedite

® Urgently



® Quickness

® Fastness
Correct Answer :-Expedite
17)
Question Stimulus :-
IR F1 fadw g hm-

* AW

* IW

* 3Rd

* 3cq
Correct Answer :-%31%
18)

Question Stimulus :-
@ W 9 ° SR fawew @ e == & oiff s
“ddl o W@eoedl H....... Bl Tt 8, & sftaw geu faufea 1 wvma €17

Correct Answer :-gRura
19)
Question Stimulus :-
"HE BT fadrT wsg gim-

o wquf

® S

. g



* 9§
Correct Answer -y

20)

Question Stimulus :-

T Weg “gFH” & Tad fdweq HT 99 PifoTe-
° Tm
* T
° T
o faam
Correct Answer :-dmra

21)
Question Stimulus :-

srerdf Treg “ga” & wel ey o1 awT Fifore-
. i
.
o fafr
o fauy
Correct Answer :-gid

22)

Question Stimulus :-
“HIRP! g | Hafia ¥4 8-
e iR
* ¥R
* HEU

] Grs"'].ﬁ[



Correct Answer :-§TR

23)

Question Stimulus :-
R 3 A quf Frag A fF qur Ft iftrepar Tedt 82

* 3w

o megd

* NG

o T A P TR
Correct Answer :-3ii

24)

Question Stimulus :-
7 aregi=n & 1Y v wsg &1 T Pifoe?
et foredt avg ar fawa 9 smaaa 7 8@

* 3T
® IMTHI
o e
* 3Fd
Correct Answer :-3[Rfad

25)

Question Stimulus :-
“fydeig” g & T areui=r 1 T Hifoe-

o S} F oYl 4T B
o Wl g A fRar @

o S} g U1 vl §RT 8l 7 ST Jbdl &l

o T A IS A



Correct Answer :-Sit 999 4T aToft §RT $aT 1 T GPhdT ol
26)
Question Stimulus :-
& 1R BT 99 DIoTe-
* I gl # W9 PO T ¢
o 3 &1 R e & AR webar @
o {g T F P! ¥ IT B 3§ ™
o W yyH ¥ e & afee
Correct Answer :-gd 94 9 fRdeq & =ifge
27)
Question Stimulus :-
3RS AR BT TG PIoTL-
o Rafdeey ARG sfed sx § &
* JH-IFTAT Y HTG Pl §
e HUYT AN 91 W g o
o AP
Correct Answer :-378 ¥ $I5 T8l
28)

Question Stimulus :-

o fafea 6 araixn # & yyw g sifaw fAif¥a g, v #1 Sfa wu & srafu@ Fifvml
(1)- ufemn 7 71 Riprgar o,

(T) -STDT A AT

(X)- A7 TR [ 9R

()~ WX Yg W UIsal T 9@ 7 fHar a1

(9)- TR 9R o feur fo

(6)- Bt & W 3T & Tl 3"



® gI| T
e ¥I9dHY
e YTy
e ggdAX
Correct Answer :-3dd@ 7Y

29)

Question Stimulus :-
- fafea 6 arexi=n # & yyw g sifaw Fif¥a g, v &1 Sfua v & srafum SR
(1)- URd
() -SI-dT gRT
(X)- TP TURTSA &
()- 3UCE ¥ H
(9)- fored wgufar srufq I=areme
(6)- 11 STell @
® gXdd
e ¥IdYd™
® dyg X
® gaddr
Correct Answer X33 d@

30)

Question Stimulus :-
¥ frft gieHT B SR T Blsar - P9 UBR &1 9/ 82

o fafguTd®
o fzayar®

® YD



o fAeuTH®
Correct Answer :-fAuyTd®
31)

Question Stimulus :-

“UERIUN YdTq HT 41T °9 3 7 31971 87 - 5 v &1 ara 72
o fafguT®
o =gara®
* YIS
o fYTE®
Correct Answer :-fzggars
32)

Question Stimulus :-

“aRI ST ¢ dHTA aeaR 98 B § HIH-9T GPR 82
o JPIIUE
* Y@ATIu™
GG B
* qaorgyuTH
Correct Answer :-qargur

33)
Question Stimulus :-

IUHY, ITHM, YR ¥H R 9P U 5T PR & 3T &2
* WY

® JIUHT



Correct Answer :-3UH1

34)

Question Stimulus :-

e waeht 31 ok gfdre-
“Uig SR U 3, Fed A Al T FM1”
o gl
o TH-guR
* ISl 6T HEd
o T 9§ T T
Correct Answer :-UH-guRl

35)

Question Stimulus :-

g v_eh @1 3 gf3re-
“BIeT -1 BTAl W, AT Tod FUR-SUR|”

o Wl
e U9
® Bl
° g
Correct Answer :-9rdl

36)

Question Stimulus :-

g a1 &1 G wifere-

foft & IR F 3T, ITBT T-=U 3@ fhdt safed &1 afva a1 WU A8 I¢ar ST Ihdil gR SUM™ B gl
P15 3T BRI ot WY st

o I qul 99 HIY @
* HIA TG 7 Horal W A WG ATY
o SWIT gl



o T I PN A
Correct Answer :-®1ad 810 7 SHoral I 79 g AT
37)

Question Stimulus :-
AiEd’ BT e g SHT-

* GG}

° Jer

o s

o TH | BIg TH
Correct Answer :-g§&@di
38)

Question Stimulus :-
“aTh + Sra” &1 Y e gfAe-

* g

* IV

* grETd

* =l
Correct Answer :-aisd
39)

Question Stimulus :-

g ufeai fa oe &1 e 82

1Y Ul & GaARn, GaH ge |
[T &1 "ifedl U=, AT ge a1
dg #At ot fadet, 9H | U @
JaP! B Bl | @ F TeA a1l



o et
o ghfifae
o I
o JeeATell
Correct Answer :-ifa®r

40)

Question Stimulus :-

o 3 @ fpa wsg & It &1 wahT gan @2
* JUBR
o WHIES
. i
* JUATIA
Correct Answer :-3UoR

41)

Question Stimulus :-

g ufeaal § S19-91 3 72

<Y ged Sifag) ardlt
TP YR gifg-11 ggdract
TP YR ST W 31el |

o HUN aT
o HURT IR
o R IR
o OOt aTIe

Correct Answer :-Jgi TR



42)

Question Stimulus :-
“frede” 1 Wiy fawde 8-

e A+ =g

e AV + ¢

e 7+ 32

o fo=a + B
Correct Answer :-f3 + 3¢

43)

Question Stimulus :-
T e BT wE o T 82
° Sl 3BV HIA TG B
o o/ W e fvar mar @
o i et & ufy omeaa &
o et & NS-IS T aren
Correct Answer :-fodft & T-Hd I aren

44)

Question Stimulus :-

v1g gfear games ¥ 5w ra & yaiiRe gt 22

Correct Answer :-gdRk

45)

Question Stimulus :-



B¢ & AR fPaq 3eRT & THE Y 7197 T Sal 82
o d
o @
* IR
* Ui
Correct Answer :-dH

46)

Question Stimulus :-

fFafafaa & ¥ $19-0 $fa, vdy oo 82
o ARG AFH
* U &g faw urdt
o faErdt TR
Correct Answer :-3HaRd AFH
47)
Question Stimulus :-

CANCELLED
U3 9THTd: fad TR & gd 82

° 1
° 6
e 10
° 12
Correct Answer :-6

48)

Question Stimulus :-

73 & gR1 fUar & fore oz & eifrare ghm-



* TP ATHTHRY
. Sy
® ¥IqR UUIH
* urHiaft
Correct Answer :-9Ter YormH

49)
Question Stimulus :-
AYRMET, TYFTAT, YA - TTE for ofa B §2
o RS FAR WIYR
o yar yTe fry
o gRax I g==
o g
Correct Answer :-gRd%1 I =+
50)

Question Stimulus :-

“PYTd B I & TSR FT A9 gie-
o MY RiE e
o AfyHizRU T
* JeURIPT HE
o Tx THI
Correct Answer :-a%% A}

51)

Question Stimulus :-
Fafafaa o o 9 a1 fajm feg ger 32
918 Ug Pl s 22

o guifR™



o Uy fRM
o fawg form s
o frdee for
Correct Answer :-fawg favm fig

52)

Question Stimulus :-

o ok =ivg Iug &t e PR F g fvw famm freg @1 v fasam wmerm 82
* UY IEP
o fowras dtue
o Tuf R
e 3 fRM
Correct Answer :-fawraifg dus
53)
Question Stimulus :-
“ 3T geAT” goTa} T Hat o 8-
o TR A ST ST B
* §glgem
o IR fawra gin
* YPpIEE ¥ TG H a¢ o
Correct Answer :-y&1ac § 964 # &g g

54)

Question Stimulus :-
v 1 B A18) T o BT a5 Al 1 qet o 22

® [T HI WAl

e ool Odr S HIA aran



o TR & UM TET
o TEUNT | HTH ATHATHT A B S
Correct Answer :-UgaiT ¥ $TH 3T A 8 ST

55)

Question Stimulus :-

& quf fb quif & TEAT | 91 32
* F+9
* $+1
°* H+ 9
* F+T
Correct Answer :-% + ¥

56)
Question Stimulus :-

3it, 3t BT IRV WIF &-
o 33y
* HUSISY
o qaH
* dd
Correct Answer :-$UsIsy

57)

Question Stimulus :-

frfafea & @ oy ame awa 1 999 Hiforg-
e HTETE, RA AW A
o Sffe # o g1 S
o fPaT @B T



o WY F T A A gHART AT favrsm
Correct Answer :-Sfigq & faR121 8141 31 =8

58)

Question Stimulus :-
o Treg-g & fawel A @ wEl srd-vg &1 Tue Pifore-
‘tﬂGT-tﬂ%T’

® IHc-Ucl
o HHl-By
o d-dPt
* HE-ad
Correct Answer :-gd-diat
59)
Question Stimulus :-
e < g & fawedl § 91 t@ Rwed #8718 81 Tad T BT 997 Hife-
e Hfvr-woft
* qUI-Tad
o YW
o gE-ggal
Correct Answer :-9&-ggdl
60)
Question Stimulus :-
P wg ® 9t 3 Yo' & vatgard §2
o afg, dww, Iy, va&m

o HIMd, Sifbad, U=aM, aR%

afve, &mma, A=, sifée=

YUY, Y-8, A=, e



Correct Answer :-2Rg, &wma, A=, sifdaa

61)

Question Stimulus :-

5 wg & Wt g vafgard &2

® T, d, UT, UST

* 3Fd, TR, 3w, TR

o 3fQ, €9, T4, WS
Correct Answer :-guul, 3T, &4, P
62)
Question Stimulus :-
qEd Vg PT I Hifore-

® Y

* HMHT

* HX®D

* dHigd
Correct Answer :-HM™I

63)

Question Stimulus :-

TR 39 & fpa Vg 8 22

o T @ B T
Correct Answer :-2

64)



Question Stimulus :-

SUHT, TUD, I TSR fFH SEeR F Ug 32
o IFUN AAPR
* TKEPR
o IufddR
* IUIEPR
Correct Answer :-34f@®R

65)

Question Stimulus :-
aRywor § Ut 2-

e

* WI

e gk

o TR
Correct Answer :-uf¥

66)

Question Stimulus :-
fra |far & o + €= 0, 3 + 3t = 3 B T 82

o FTER
o U ER
o W
° U TR
Correct Answer :-3f@ @@®

67)

Question Stimulus :-



' P T aGE g9 & 1 3T T y@d 1 U w2
° 3
e &
° ™
* 3
Correct Answer :-311

68)

Question Stimulus :-
A1) 11 A F IR - o @l gl g1 a9 weR R faffay wvar 8, sae! aufd &yt $gd 21

o I QY Uisy

* S, IR I

o rard STy Tt

o AfYyARRUT T
Correct Answer :-Si, I3 Il
69)

Question Stimulus :-
FrfT ¥ 3uR- URa ® fra yrar ufkar 82

e 4

Correct Answer :-6

70)

Question Stimulus :-
ggan fay ffg awie foaet siegerar | gam?

o e ik



o HARRSH AT
Correct Answer :-R@ GR 3w @™

Topic:- General Knowledge
1)

Question Stimulus :-
The largest Airport in India is in . / HRd ¥ 98§87 331'5: gl T gl
* Mumbai / 58

® Bangalore / dTaR
* Delhi / feeeht

e Chennai / aﬂ'ef
Correct Answer :-Delhi / &
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / =t

g ofik R fow T FiEl & YR W T IR BT ITF Y-

List-I List-II

1. Amithab Bachchan a. Music composer
2. Sachin Tendulkar b. Businessman
3. Mukesh Ambani c. Sports Person
4. A. R. Rehman d. Film star

gfa-1 gfu-11
1. ffary s a. HfideR
2. |fF dgaex b. IqERA
3. E@TSZT Sfqrt c. faarst
4. T.3R. W§HH d. fee aftAar

® 1-d, 2-¢c, 3-b, 4-a



® 1-d,2-c, 3-a, 4-b
® 1-c,2-d, 3-b, 4-a
® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

What is the scientific name of mango? / 3{TH &I aﬁ'lﬁﬁ?:lm Cu) %?
® Mangoa emblica / Amam ﬁaﬁaﬂ'
® Mzadirachta indica / Gﬂm -‘.'z‘?ﬂw
® Mangifera indica / AfRreT gfeor
® Mhyllanthus emblica / ey Tafee
Correct Answer :-Mangifera indica / AT gfs®r
a)
Question Stimulus :-

Laughing gas is called as ./

weq (AT A9) & Pd gl

® Hydrogen dioxide /E'IE@FFT STE'Gﬁﬁ'\‘I'IETB'

e Sulphur dioxide / HIfSUH STS3HTHATSS

® Hydrogen peroxide / G'I_E'g:‘ﬁm aﬁ?\‘lﬁ_&'

® Nitrous oxide / ATg¢H Gﬁ'ﬂl'lg_a'
Correct Answer :-Nitrous oxide / ATS¢H ATRIZS
5)
Question Stimulus :-

Which of the following can be the easiest way to predict an upcoming Earthquake? / fFafafaa & ¥ 19 s
YHY $ UIsgamft $31 & e 998 ™ aiidT g THar 82

® Huge release of Methane gas / AT A F1 U ﬁﬁ



® Release of Radon gas / Ys 1 Ft ﬁ'{f%[r
® Release of Carbon Dioxide / P mgaﬁ'wm 3| ﬁ'{ﬁ%ﬁ'

® None of these / E’Hﬁ@ﬁé?&?{

Correct Answer :-Release of Radon gas / YS9 1 @ fAaffaar

6)
Question Stimulus :-

Which one of these is a task switcher in Windows? /37{& q B9 91 Udh fasis e =R %I
® Alt+Tab
® Ctrl+Alt+Del
® Alt+F4
® Alt+PrintScreen
Correct Answer :-Alt+Tab
7)
Question Stimulus :-

One of the main coalfields of India are located in the YR DI 1

DIABIeaT B Y TP --mmmmmmmmme g

® Assam Valley / ITHH HTel

e Konkan Valley / w=i®u gt

® Southern States / EF&I'Uﬂ Mg

® Damodar Valley / aTFhﬂ'\’ T
Correct Answer :-Damodar Valley / THIGY g1t
8)
Question Stimulus :-

Who among the following won the Magsaysay Award 2016? / fafifad 4 9 foam
AN [RER 2016 ST ?

e Himanshu Aggarwal / fgwig seram



e Amitabh Kant / aiffamy oia

o Kailash Satyarthi / = gt

* Bezwada Wilson / dwfarsT faea=
Correct Answer :-Bezwada Wilson / S9aTST faea=1
9)

Question Stimulus :-

Pulicat lake is located on the borders of Andhra Pradesh and ./ gferee gita, sy e 3R C4|
i W a7

e Karnataka / $-Ilc®

® Tamil Nadu / ?IﬁIFFI'I@'

e Kerala/ &3

® Rajasthan / ISR
Correct Answer :-Tamil Nadu / aff@-T1g
10)

Question Stimulus :-

Ajanta Caves are found in / 3Tl '{ICFI'Q' TI?T 1fl'l's: IGH %
e Karnataka / HICH
e Tamil Nadu / T8 15
® Rajasthan / XTSTRITT

® Maharashtra / 'FI?'RTg

Correct Answer :-Maharashtra / HERTY

11)
Question Stimulus :-

Which of the following States is on the border of Odisha? JARL:] H 9§ P19 A1 359 e & Hwr w

8?2
e Bihar /f98R



® Meghalaya / AuTery

e Manipur / AfOTqR

e Andhra Pradesh / 3T Q%S«‘T
Correct Answer :-Andhra Pradesh / 318 EI%QT
12)

Question Stimulus :-

Which of these monuments is located in a State capital? / ?F'Iﬁ ¥ S I VRS U 1Y P ey ° R

82
* Gol Gumbaz / & T
® Charminar / IR{HAR
® Meenakshi Temple / fh'—n&ﬁ qﬁﬂ'
® Golden Temple / Tqof 'Fl'ﬁ?

Correct Answer :-Charminar / JRIHAR

13)

Question Stimulus :-

Find the odd one out. / 1% & & faww f-ﬁl

® Bangalore / aTIFﬁT

® Mumbai/ Ha—&:

® Bhopal / v

e Tamil Nadu / dffia qarg
Correct Answer :-Tamil Nadu / A& qarg
14)

Question Stimulus :-

Which is the second largest country in Asia by area? / &3%wa & f3uE I TR &1
SR Y FST 3 B AT 3?2

® Russia /Y



e China/®A

¢ India/ HRd

* Saudi Arabia / G3al 3RT
Correct Answer :-China /94
15)

Question Stimulus :-

Which is the world’s second largest continent? / ﬁ’.’{ DI gHRT a9 q8T W CaC k.|| %?
® America / 3MAfyeT
® Antarctica / 3ieThiedT
® Africa/ 3PIdHT
® Europe / @T{
Correct Answer :-Africa / 3MPIdT

16)

Question Stimulus :-

Which wood is traditionally used to make cricket bats? / URUR® ¥U ¥ fhdre &1 9 9 & forw fvw
AFS! BT WANT fHar S g2

e Willow wood / faeit g8

* Almond wood / 3TaHS IS
e Cork wood / %1% g5
® Banyan wood / CEDE] q9s8

Correct Answer :-Willow wood / fa@t g8

17)

Question Stimulus :-

Sakshi Malik is associated with which sports? / TT&f} WW@H%W”@ 33"%?
® Swimming /aTlﬂﬁ
e Canoeing / &gT



® Judo/ GLS'-'T
® Wrestling / ﬂﬂ?ﬁ

Correct Answer :-Wrestling / Xl

18)

Question Stimulus :-

Who among the following is known as ‘Master Blaster’ in cricket / ﬁl"ﬁlﬁl’@ﬁ 'ef ﬁ ﬂﬁq, W ﬁ
"HREY SR & iR UR ST SITdT 82

® Ricky Ponting / Rt ifd

e Rahul Dravid / Jgd &f4S

® Kumar Sangakar / PHRY HMTHIRT

e Sachin Tendulkar / = W
Correct Answer :-Sachin Tendulkar / | ﬁgﬂm
19)

Question Stimulus :-

Who is the Indian Captain under whom Sachin Tendulkar made his test debut? / 9§ YR I Can i
R aga afee dgasy A U1 ugdl oxe A Wan?

e Mohammad Azharuddin / 'Fﬁ?'ﬂ:lﬁ Gﬂ?@?ﬂﬂ
e Kapil Dev / &fUd ¢a

e Krishnamachari Srikkanth / Q)'WI'I'H?H'\‘T fwid
e Sunil Gavaskar / g-Id TAEH

Correct Answer :-Krishnamachari Srikkanth / FOMHaR} fiwid

20)
Question Stimulus :-

Shweta Rathore is associated with ./ %?IT D[] [ — & 91y Trﬁﬁ %'I
® Swimming /?R'm?r
® Table Tennis / dga



e Polo / Utel

* Body Building / STa! fafegT
Correct Answer :-Body Building / STa! fafeg
21)

Question Stimulus :-

‘Just Do It’ is a famous tagline associated with which footwear and sports accessories manufacturer? / "SIR€ § gc" g

RIS STaTs & S ofR W arit fAatar 9 931 82
* Lee Cooper / Tl PUR
e Nike / Tg§®H
e Woodland / §SAS
o Adidas /Bf&ST™

Correct Answer :-Nike / FIg®

22)
Question Stimulus :-

Which among the following countries is the largest producer of Cotton? / 4 H A B9 T S, FURT BT
Y ST SWGH 572

® Turkey / ?ﬁl’ﬁ

e Brazil / FIfoIA

® Argentina / it

® None of these / E-'F-l'e[ J ?ﬁg el

Correct Answer :-None of these / T | ®I$ 98}

23)
Question Stimulus :-

Which among the following is the largest rice producing State of India? / % ¥ ¥ YRd ¥ 9199 T 999
ST WGP AT B § 2

® West Bengal / uf$ ST

* Madhya Pradesh / %7 YT



e Uttar Pradesh / TR US¥
* Chhattisgarh / IR

Correct Answer :-West Bengal / Uf3# Sa

24)

Question Stimulus :-

Which of these are known as Veblin goods? / 5_41?[ q B Gt dgaq ax] F = A JHI S 82
® Luxury goods / faaTRIar &1 9/9™
® Cheap goods / I¥dT HTT
® Household articles /WW
® Basic goods / TURYd a?ﬁ\'*ﬁ

Correct Answer :-Luxury goods / f[a@TRar &1 |qm{=

25)

Question Stimulus :-
Who among these lived the longest? /g ¥ 3 gas ot 31 db P oiifad /WA

® Rajiv Gandhi / ITei1g T
® Jawaharlal Nehru / STdigRdllel ﬁ???
® Indira Gandhi / 3'%?'[ Tﬁ"iﬁ
® Sanjay Gandhi / Torg e
Correct Answer :-Jawaharlal Nehru /mﬁﬁw

26)
Question Stimulus :-

Who among the following is a honorary citizen of the United States of America? / fadd == W{ﬁﬁ' MY

AP BT W ATIG AN 82
® Mahatma Gandhi / HeTHT Tﬁ?ﬂ
® Mother Teresa / HGR axdl
e Satyajit Ray / Tcdford ¥



® Zakir Hussain / ATfhY _g'a"_‘f
Correct Answer :-Mother Teresa / HGY ¢¥dT

27)

Question Stimulus :-

Who invented the first calculator? / f&a= uyW W 31 SfdspR farar
® Thomas Edison / U4THH Q:‘ﬂﬂq
® Blaise Pascal / =Y YRS
® Samuel Morse / '\a'HGI?[ o

® Aristotle / 3IR&]
Correct Answer :-Blaise Pascal /ﬁ-\q U¥hcd

28)

Question Stimulus :-

Who is the CEO of Tesla Motors? / 33T HicH & Wisei I & ?
® Carly Fiorina / ®Tall f3nR=T
® Indira Nooyi / SfaT &t
® Kiran Mazumdar Shaw / f&=0r HYHGR Bl
e Elon Musk / taH 7%

Correct Answer :-Elon Musk / TdH &

29)
Question Stimulus :-

Who is credited with the first Spacewalk in human history? / HTHd ?{ﬁl?'l'\‘l H yyH Gi?lﬁ'&‘l' a1 &1 39 fPa %CIT
ST 82

® Yuri Gagarin / @ TRIRA
® Alexey Leonov / Eﬁ?’\‘ﬁ fera g

® Neil Amstrong / -T& \"ﬂﬁEFT
® Rakesh Sharma / JqHI AT



Correct Answer :-Alexey Leonov / Qﬁ?«:ﬁ ﬁl‘tﬁ=ﬁ'q'

30)
Question Stimulus :-

Who was the Captain of the famous Titanic ship? / s E‘IE%&F:F SlgTSl dT DI P UT?
e Edward John Smith / USds I Y

® Issac Hull / QHIDP gl

® John Paul Jones /Gﬁ:l' UIRESIG:]

* William Ladd / faferas @
Correct Answer :-Edward John Smith / ESH‘&.‘ w4 Ry
31)

Question Stimulus :-

How many women have served as the President of India? / f&ast afgensif 4 wra & wgufa &
U § SRR TUTAT & ?

° 2

Correct Answer :-1

32)
Question Stimulus :-

Among the following, which is the highest rank in the Indian Army? / i@ o & URd 1 ¥ war=
UG P A §?

* Brigadier / faiifda®
e (Colonel / Hd
* Lieutenant General / fteAc = vd

® Major General / AR SR



Correct Answer :-Lieutenant General / Affeae S=Rd

33)
Question Stimulus :-

Who was the first woman Judge of the Supreme Court of India? / HRd & gdte Uy & YUYW qiedr
=ararefiRr i A

e Justice M. Fathima Beevi / S TH WifqHT Sidt

e Justice R. Banumathi / Wf%eH 3R Hrgafd

* Justice Ranjana Desai / SR 39T ¢S

* Justice Gyan Sudha Misra / S =1 g1 frem
Correct Answer :-Justice M. Fathima Beevi / SIif¥e TH WIfdHT didt
34)

Question Stimulus :-

Who has the right to appoint the Attorney General of India? / HRd & 3T TR Bl ﬁ'ﬂﬂ?‘f I BT ARBR
fras w32

® President / ?‘I‘g‘qﬁf

 Prime Minister / WHT H31

® Vice President / 3U TIETIﬁ
® None ofthese/E:Iﬁ ] aﬁ'sf T-Iﬁ

Correct Answer :-President/ ?Tg'lTﬁ

35)
Question Stimulus :-

Which present-day city is the site of the historical city of Shahjahanabad? / Qﬁl’é’lﬁl’fﬁ Qe WTgelgMIdIG BT I
A W B TR 82

® Patna / UcHI
* Kolkata / PIAPHdl
* Delni / fawit

® Cuttack / hCh



Correct Answer :-Delhi / fawit

36)
Question Stimulus :-

Who among the following was hanged by the British Government in regard to the 'Kakori Conspiracy'? /

PPRI TsU7 & Wy # fFufaiad # 4 f5a fafew wwer 7 widt w acer fdar ur
® Chandra Shekhar Azad / 9% VTR 115 | [
® Bhagat Singh / HITd ﬁl_s'
e Batukeshwar Dutt / ag%?%ﬂ d
e Ram Prasad Bismil / 319 TG fofRra
Correct Answer :-Ram Prasad Bismil / 3TH UHTg fafere
37)

Question Stimulus :-

Who wrote the Book entitled ‘Ghulamgiri’? / T[@HRRY i aredt Q& foaa fardt &
e B.R. Ambedkar / §f 3R 3FASH
e M. P. Pillai / TH I Ut
e Narayanguru / ATRTIAUNR=
e Jyotibha Phule / STIfdaT Fa
Correct Answer :-Jyotibha Phule / SaIfdal Bad
38)

Question Stimulus :-

Which committee has been constituted to monitor the functioning of the Medical Council of India (MCI)? / Cac k]

afafa yrdta Rifere ulue (wariteng) & sae $1 FARF & g rida s 22

Vinod Roy committee / fa-ig vro afafa

® Ranjit Roy Chaudhury committee / it 31T ey Jfafa
Bibek Debroy committee / Qs swRig afafa

® R.M. Lodha committee / 3[R.TH. T afafa



Correct Answer :-R.M. Lodha committee / 3[R.TH. e AR

39)
Question Stimulus :-

Where is the World Bank headquarters located? / ﬁ’ﬂ' dF BT ST W@R‘f %?
® Washington, D.C. / aTﬁ'iTIE:T, 1.4
® Geneva/foMar
® New York / :{ﬁ
® Philadelphia / fraTSowaT
Correct Answer :-Washington, D.C. / aTfRitTe, S1.3ft.
40)

Question Stimulus :-

Where was the first International Earth Summit held? / gl SI'_\'RT@TI 'q’t‘fﬁ'\qﬁ?ﬁ ﬁ}f'g'\?rﬂ Yyr?
® Mumbai, India / g'ai, HRd
® Rio de Janeiro, Brazil s fean %\‘:ﬁsﬁ, _ssl'l\_rﬂ?l'
® Tokyo, Japan / ﬂazﬁ, CILIG]
e Shanghai, China / X9TS, IS
Correct Answer :-Rio de Janeiro, Brazil / f¥3f ¢ SHg=1, Foitd

41)

Question Stimulus :-

Where is the Gobi desert located? / Tt ¥R WT Rua %?
® Russia /¥
e Kazakhstan / DSIRAXIT
® Mongolia / e
o Korea / BIfAT

Correct Answer :-Mongolia / HTHerdT



42)
Question Stimulus :-

Which festival is known as Phagwa in Bhojpuri / ‘l-ﬁ'\?l'q:ﬁ ¥ B9 1 ud UgHTEaT & ATH | ST 16T 82
e Pongal / TITdl
* Diwali / dtareft
 Christmas / fraa
* Holi / gieit
Correct Answer :-Holi / gieil

43)
Question Stimulus :-

Jataka tales are a part of the scriptures of which of the following religions? / STd®T ﬁ?ﬂﬁ' faddfeaguds

a2
® Jainism / 9 &
* Buddhism / §t5 4
® Bahaism /331% ef

® Islam / S¥CITH

Correct Answer :-Buddhism / 9l 4H

44)
Question Stimulus :-

Which operation was launched by India to rescue its citizens in South Sudan? / HIRd gIRT aféror gstd | e ?%

YA ARSI $t g9 & U fFa e ot IFema w2
* Airlift/ TRIOIwR
® Blue star / & %I}

e Sankat Mochan / H&¢ 'Fﬁ?F-l

® Rahat /3Tgd

Correct Answer :-Sankat Mochan / G&®¢ WG



45)
Question Stimulus :-

Who is the Union Minister for Information and Broadcasting? / YT Td TR & ﬁl"! Py WA B %?
® Venkaiah Naidu /43T g
® Prakash Javadekar / UBIRT Eﬂa@@_{
® Arun Jaitley / 3% Stedt
® Radhamohan Singh / ?T't'-l'l'l:ﬁgq ﬁ’l?

Correct Answer :-Venkaiah Naidu /34T T10g

46)
Question Stimulus :-

In which year was the atom bomb dropped in the Japanese city of Hiroshima? / fPaad d STU & RIS

=R w59 R wr ar?
° 1940
° 1945
° 1948
° 1952

Correct Answer :-1945

47)
Question Stimulus :-

The United Nations World Tourism Organization celebrates World Tourism Day on / Tgdrd MY fay wies

HIEH=---====mm === o fay wie feaw wamar 31
® September —20 / fdaw 20
® September — 22 / fRrdeR 22
® September — 27/ fyder 27
® September — 25/ fdsr 25

Correct Answer :-September — 27 / RIdaR 27



48)
Question Stimulus :-

Coal Bed Methane has beenfoundin _____ . / Fads T A umr %l
® Sagar / AR
® Jabalpur / SIdAYR
* Shahdol / TEEIA
® Indore / E_Ca?

Correct Answer :-Shahdol / Ygard

49)
Question Stimulus :-

Largest river of Madhya Pradesh is /Y FI%-'QT aﬂ '\‘Iﬁ'\ﬁ Hﬁ qﬂ %
® Chambal / I
® Betwa/ Sqdl
o sindh/ Y
® Narmada / qﬂa'l'

Correct Answer :-Narmada / THaT

50)
Question Stimulus :-

From a geological viewpoint, which is the oldest terrain of Madhya Pradesh? / Y-aqT~i®
%® |, TR BT URIHaH Y-HTT S AT 82

e Gondwana Land / TigaHT ds

* Deccan Plateau / gfémoft o

* Bundelkhand region / W‘e’ &=
® Eastern terrain / qﬁfﬂi—‘l-lTlT

Correct Answer :-Gondwana Land / TgaT a8

51)



Question Stimulus :-

When two numbers are multiplied their product is (-48) and when the first number is subtracted from the other
number the answer is 16. Find the numbers. / 1§ & H&13M $T U fHa1 o141 @ @) SADT UHGH BT @ (-48)
3R 1T Ugelt TBI P gON WWAT |V USHT AT § °f SR 16 T 71 IWY FHapierg)

° (12,-4)
°* (4,-12)
°* (4,12
° (-12,4)
Correct Answer :-(-12,4)

52)

Question Stimulus :-

1 1

Fill up the blanks &2 = 2x___ / fygq ®IH 4ikg|

® 05

® 0.05

® 25

Correct Answer :-0.5

53)

Question Stimulus :-
Simplify 14 x2y2+ 7x y_9 / 14 X2y2 +7x y_9 H??ﬁ?_d Fifor?
o 2y7 x2
o 2xyll
ot 2y7 x2 2y2
o 2y7x2
Correct Answer :-2 xy!!

54)



Question Stimulus :-
Evaluate: (4x-3y)%. / (4x-3y)? BT JeUidd Hivd|
* 16x*+ 24xy +9y2
* 16x>+ 24xy-9y2
* 4x2- 12xy+9y?
® 16 x* -24xy+9y>
Correct Answer :-16 x* -24xy+9y>

55)
Question Stimulus :-

Find the value of x if the arithmetic mean of 8, 15, 6, 12 and xis 10. / / Tfe 8,15,6,12 3R x BT HHIGR HIA 10 %

I x &1 7 i)
° 11
°* 15

* 12

Correct Answer -9

56)
Question Stimulus :-

A special cereal mixture contains rice, wheat and corn in the ratio of 2:3:5. If a bag of the mixture contains 3
pounds of rice, the quantity of corn in the bag is . / & fa”iw 3 faryor ¥ =maa, ﬂE 3R gaPT 2:3:5
& 3gurd ¥ 81 afe fryor & U 9 ¥ 9rad & 3 UISS ®©, o 8 § w1 i UET B

e 85
°* 6.5
* 95
* 75

Correct Answer :-7.5

57)



Question Stimulus :-

What is the measure of each exterior angle of al2 sided regular polygon? / U 12 Il ara frafia ggYysl ¥
TS I8 BT BT TTY FIT §2

e 90’
o 380"
e 60" rS
e 30°

Correct Answer :-30°

58) ‘

Question Stimulus :-

F ford gftawor &1 9= FifvTu)

Choose the equation for the line graph given below. / CiE]

* vy=3



Correct Answer :-y=3

59)
Question Stimulus :-

What is the surface area of a cube whose side is 10cm? / Tdh Yd BT aﬁ'qv_d T % et Yol 10 ﬁ"ﬂ %?
® 600cm’
* 100cm’
® 1000cm’
* 6000cm>
Correct Answer :-600cm?
60)

Question Stimulus :-

Four congruent isosceles right triangles are cut from the 4 corners of a square with a side
of 20 units. The length of one leg of the triangle is equal to 4 units. The area of the

remaining octagon is . If this octagon is divided into two equal parts, then
the area of each part is / IR Jd9H S Y aif & 4 HIA A H1e T 7
forRTat Yo 29 318 81 DI B TP Yol 4 SHE 31 AV ATYS FT &ABdA g1 afe 39

APYS P e T # Rl &9, @ ude R &1 dawa ghm
® 184 sq units, 368 sq units / 184 G SPTg, 368 T FHTS
® 368 sq units, 184 sq units / 368 G SPTS, 184 T BT
® 398 sq units, 184 sq units / 398 an ETﬂg, 184 an Eﬂﬂg
® 380 sq units, 180 sq units / 380 it ng, 180 Tf ng

Correct Answer :-368 sq units, 184 sq units / 368 9 SPTg, 184 T FHIS

61)

Question Stimulus :-

The large hadron collider of CERN is in / T T:b‘lmﬁ%?;ﬁ ﬁ?l‘l?,@? ff@rd%
®* France / Wi¥
® London / d@¢Hd

® Germany / ST



e Geneva / foRar
Correct Answer :-Geneva / fo@dar
62)

Question Stimulus :-

A solution of salt in water can be purified to get pure water by the method of / R[c& ST UTGd P B ﬁ'l'Q' K]
vl & faeaq &) 59 A gr1 ;e fear s g@ar @

® TFiltration / ﬁ'\‘qa_"l'

® Separating funnel / 3¢l I B BIU

® Distillation / 3THdA

® Tractional distillation / YT 3T
Correct Answer :-Distillation / 3THAT
63)
Question Stimulus :-

CANCELLED

The free ends of a tester should not be joined for more than a few seconds because otherwise / TR & WaT R

DI FO ADUSI A WG &R & g T8 g1 arfey Fife sy
* the bulb of the tester will get fused / 3% $T I¢d W & AT
® the battery will get heated / aﬁmﬁﬁlﬁ'lﬁ
e the connection wire will get burnt / YUs dR oA SRRfT
® the cells of the battery will get drained very quickly / e & AT qggd Sleg el g 9

Correct Answer :-the cells of the battery will get drained very quickly / 93! & qd §gd Sleg
el g S

64)
Question Stimulus :-

A colourless, odourless gas, heavier than air which extinguishes fire is / T® Q"IT@T-T, g

T, it g1 & R § SR 3T gl 7§
e Carbon monoxide / &I HISiaaS S



e Carbon dioxide / ®TdT SIS ATHATSS
® Nitrogen dioxide / T-I'IE@T:F-I IS 3TTS S
* Hydrogen peroxide / BTSN R3ATFIES
Correct Answer :-Carbon dioxide / BTa SIS3ATFITSS

65)
Question Stimulus :-

Ozone layer protects us from harmful / 3NeIF WRd BHRI §IiNP RS I & Bl %
e Ultra violet radiation / TR+ fafezor

e Visible radiation / T fafd=ur
* Infra red radiation / 3/a3ad fafe=or
* Heat radiation / ST fafeor

Correct Answer :-Ultra violet radiation / TRav= fafeszor

66)
Question Stimulus :-

Swimming costumes are made from a material called Spandex because it is / WP B NP WSH Pega
arelt wft #Y o+ Bt @ i as

* Absorbent & comfortable to wear / 3@RNYP BT § TYUT Ug-1 A ARTHSS BiaT &
* Soft & durable / HIT dUT RHTS TlaT &
* Light & highly elastic / T&PT TUT fATUD AaeR ghar 8
® Wrinkle free & moth resistant / ﬁlﬁ Hod dU1 Pl At ﬁ?IT %
Correct Answer :-Light & highly elastic / §¢PI dUT AfYP FIGR gidT &

67)
Question Stimulus :-

In which stage of cell division do the chromosomes move to the opposite poles

of the cell? / FIR®T AU Ft HIF Ht TR A TR FIRST & fAudia ¢af w® o 82
e Anaphase-I / QHTW-I



e Metaphase-II / AeTh-11
e Anaphase-II / ﬁFIT.a’_\;r-II
e Metaphase-I/ AeThl-1
Correct Answer :-Anaphase-I / QHTQW_:[-I
68)
Question Stimulus :-
The primary organ of the respiratory systemis  /R[a o &1 & [T 2
® Nostrils T /
® Trachea / XARIAC
® Bronchi / aﬁ»‘l?f
* Lungs / BH3
Correct Answer :-Lungs / B3
69)

Question Stimulus :-

The Scientific name of man is Homo sapiens what does the word homo represent? / GI'IaTﬂ Ca) ﬁﬁTﬁlﬂ? ¥ E-TFI.T

it 31 g T T AT 52
e The genus /9%
e The species / St
e The family / af¥aR
® The order /hH

Correct Answer :-The genus / =1

70)
Question Stimulus :-

The study of internal structure of the human body is called /9T YRR & Sfiaik®d
G BT AT HEArdl &

® Anatomy /Q'I'\FR NIl ﬁ?ﬂ?



® Histology / G ﬁ?ﬂq
* Physiology / TR fopar fagm=
® Morphology / 3MTepfdl fasi

Correct Answer :-Anatomy / TR Y51 fag =

71)
Question Stimulus :-

CANCELLED

The average weight of 10 students is 24kgs.If a student of 18kgs is replaced by another student then the average
increases by 2.5 kgs. What is the weight of the new student? / 10 BT ®T 3d aoi 24fHuT 81 afe v 18fFan
& BT & I W il ok o1 &1 T fear wre ot it F siad 9o A 2.5 fra 3t gfS 8 st [
B BT 991 1 32

® 45

e 33

° 41

* 47
Correct Answer :-33
72)

Question Stimulus :-

ool

¥

B3| =3
(XS]

b
c

| w

find be: a: ¢2 / afy &~ =§,?ﬁbc:a:c23n'dﬁl
e 12:21:4

e 25:21:4

e 4:5:21

e None of these / TH I $Ig i 781

Correct Answer -12:21:4

73)

Question Stimulus :-



2/5™ of 35 is / 35 T 2/53\7.’ e
° 20
° 18
°* 14
®* 26
Correct Answer :-14

74)

Question Stimulus :-
Remainder when you divide 432 by 17 is / 5T& 37 432 1 17 ¥ faurira #3d & oY 2w:

° 10
* 9
°* 7
e 8
Correct Answer :-7

75)
Question Stimulus :-

The average age of 30 students and their teacher is 15 yrs. If the teacher’s age is excluded, then the
average reduces by one. What is the age of the teacher? /30 BT 3R ISP TIPS BT NI 3 15
au 31 afe sreaTus &) U @1 geT faan 91, ot 3Nud U 9 Ue Sal 8 | ST B 3y fha-t 82

* 40yrs /40 TH
o 35yrs /3594
o 45yrs /4594
o 30yrs /3099
Correct Answer :-45yrs / 45 CL

76)

Question Stimulus :-



The average weight of 3 men A, B and C is 57 kgs, If ‘A’ of weight 59 kgs is replaced by D,
then the average increases by 1.2 kgs. What is the weight of D? / 3 g??l?ﬁ B 3R C &1

o 57 fral 8, afd 59 fFal ard "A’ & ®IF W D &) W fan wig, @ sitwa # 1. 2mﬁaﬁq®ﬁ?ﬂél
D &1 a9 fHa-T 82

554 kgs / 55.4 fama
* 62.6 kgs / 62.6 fHamH
* 56.4 kgs / 56.4 fparmH
e 61.8 kes / 61.8 e fHama

Correct Answer :-62.6 kgs / 62.6 faRma

77)

Question Stimulus :-
Ravi brought a bag with 10 % discount on the original price. He got a profit of Rs. 40 by selling it at a price 110 %
of the price at which he bought it. What will be the original price of the bag? / NCET Udh N I IRATD qg
W 10% P& TR TST| IV I T H 39 g, TR 39 98 WST AT, BT 110% H I8 W 40 FTUT BT
ATY §3AT| S HT IATID God T g2

® Rs. 250 /3,250

® Rs.500/3%.500

® Rs.444 /3=, 444

® Rs.333/3.333
Correct Answer :-Rs. 444 / 3, 444
78)
Question Stimulus :-

57% of 700 is / 700 BT 57% &:
e 399
° 499
e 388

* 469

Correct Answer :-399



79)
Question Stimulus :-

Fill in the missing alphabets / W &R mrhq

® aab

® ab,a

® b,a,a

® ab,b
Correct Answer :-a,a, b
80)

Question Stimulus :-

A man can reach a certain distance in 15 hrs. If he reduces his speed by 1/5, then he goes 12 km less in

that time. Find his speed. / U ST b i3 gt UR 15 Uel ® uga aowar g1 afe ag sru=t afa &t
1/5 A UeT ¢ a1 98 S 9Hg | 12 ftlt w0 S g1 Su@t i gra i

e 4 kmph / 4f&H ufarder
e 3 kmph / 3fHH ufereer
e 5kmph / 5fHH ufader
e 6 kmph / 6fH uferder
Correct Answer :-4 kmph / 4f ufereer

81)

Question Stimulus :-

Which of the following is NOT same as the other three address? / ﬁl’H -k 373'_"[ T It A9 Ul & THTH qﬁ %’?

Hampshire Netwire Ltd
%: Ringwood Lane

ST JOHN PORT
HAMPSHIRE

SQ2 4TW



SOUTH ENGLAND

i. Hampshire Netwire Ltd
% Ringwood Lane

ST JOHN PORT
HAMPSHIRE

S02 4TW

SOUTH ENGLAND

ii. Hampshire Netwire Ltd
%: Ringwood Lane

ST JOHN PORT
HAMPSHIRE

S02 4TW

SOUTH ENGLAND

iii. Hampshire Netwire Ltd
% Ringwood Lane

ST JOHN PORT
HAMPSHIRE

SQ2 4TW

SOUTH ENGLAND

iv. Hampshire Netwire Ltd
% Ringwood Lane

ST JOHN PORT
HAMPSHIRE

S02 4TW

SOUTH ENGLAND



® jv
Correct Answer :-iii

82)
Question Stimulus :-

Which one of the following four address is NOT EXACTLY same as the other three? / g ar
Udl # ¥ HIF T 91 99 S THGH GHH T8l 22

Musal Yoadinmadji
SKO003 peter square
N’ Djamena

CHAD 008881

i. Musal yoadimnadji
SK003 peter square
N’ Djamena

CHAD 008881

ii. Musal Yoadinmadji
SK003 peter square
N’ Djamena

CHAD 008881

iili. Musal yoadimnadji
SKO003 peter square
N’ Djamena

CHAD 008881



iv. Musal yoadimnadji
SKO003 peter square
N’ Djamena

CHAD 008881

® iii

* v
Correct Answer :-ii
83)

Question Stimulus :-

On selling a sofa-set for Rs.4350 the manufacturer makes a loss of Rs.365. How much did it cost to the

manufacturer? / T TIHT Ve B TUY 4350 § 999 U SAGH Pl TUY 365 BT JHA gial ¢
IATCH Bl ITP! ANTd fHa-l usi?

* 4715
* 4000
* 4300
® 4350

Correct Answer :-4715

84)
Question Stimulus :-

Find the next term in the series 3,5,9,17,..ccccevvieviiineeennnnnnns / ST § SFTET g ITd aﬂﬁrq 3,5,9,17,

ooooooooooooooooooooooooooo



e 142
Correct Answer :-33
85)

Question Stimulus :-

Find the next term in the series. / 4Gl & 3ATAT g JTd ﬁﬁrq

0,2,6,12,

e 20

e 30

° 18

° 14
Correct Answer :-2(
86)

Question Stimulus :-

In a certain language ‘kolek ta tej’ means ‘early to bed’ and ‘ala tej meeg’ means' .
common bed room’ . Then in that language the word ‘tej’ is used for: / o<t @y v #
‘kolek ta tej’ BT HAAd § ‘early to bed’ 3R ‘ala tej meeg’ $T Ha@d & * common bed room’| dt

I HIT § T ‘tej’ T UANT 3T& oG g @
® room
® bed
® early
® common
Correct Answer :-bed

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /= ﬁ@ﬁ T4 HH H AT \’Iﬂ?ﬁf Cac k|
gt



Correct Answer :-

88)
Question Stimulus :-

There are two couples in a group of six people - A, B, C, D, E and F. Among them, D is A’s
grandmother and B’s mother; C is B’s wife and F's mother; and F is E's granddaughter.
How many among them are male members? / A, B, C, D, E AMFP Udh B8 am & Yz b i |
NS I STH, D, APTAIE MR B B HMIS; C, BPI UM g IR FHIAMGTE; 3RF, EFI WAt g1 399 ¥
P @ gow wew &2



° 4
® Cannot be determined / T'I'E'apf rd forar S goar

Correct Answer :-Cannot be determined / g1 JTd a1 ST T&HdT

89)

Question Stimulus :-

A + B means that A is the daughter of B. / A + B $THdAd & A, B 31 a1 81

A - B means that A is the husband of B. / A-B WW%A, B Wrtlﬁf%l

A x B means that A is the brother of B. / A x B $THdA4 @ A, B &1 HTS 2|

If a relationship is represented as R + S + T, then, how is T related to R? / If¢ T& WEY R +
S+ TACATTATE, @, T HTR I FT IJGY 82

e Sijster-in-law / d1q

® Grandmother / -t

® Mother / HIdT

® Mother-in-law / |dTH
Correct Answer :=Grandmother / ATl
90)

Question Stimulus :-

Seema introduced Anil as the son of the daughter of the father of her uncle. Anil is Seema’s
./ |1 A e o1 uR=g uA 3ied & fUar &t adl & 9¢ & =u A f&an sifaa dimn
31 gl

° Brother/‘H'Iﬁ
e Son/del
e Uncle / 3i/%pd

® Nephew / Yitell



Correct Answer :-Brother / YIS

91)
Question Stimulus :-

Which of the following is the mirror image of EIGHT? / A9 # | SI9 91 EIGHT &7 guur ufafaww 82

I'TICHL

LICH.L

. EICHL

. EICHL

Correct Answer :-EI‘C"II-I'L

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second
word. If the third word has to have the similar relationship with the fourth
word, the fourth word will be: / 5 Uy #, Ugd I &1 gR < & AU [l YoR A BIs Hay
21 afe W 2 &1 9 e & 1Y I UPR T AGY ), A T g THM:

Man : Biography : : Nation : ? 3MTGHY : SitaHl: NP ?
® People / ARt
® History / gﬁ%m

® |eader / T
® Geography / 'lfﬁ?[

Correct Answer :-History / Sfdg™

93)

Question Stimulus :-

How many different seven letter words can be formed using the letters of the word

‘BARKING’ if repetition is not allowed? / trI% gﬂ?rqﬁrﬁ ajqﬁqﬁz?rm dl ‘BARKING’ o &
3&RY BT TUNT B g fha AT TR & AId 38R aTe Wea! b1 Ao fobar S webar 82



® 2520
e 720
* 1260
* 5040
Correct Answer :-5040

94)

Question Stimulus :-

Radhika is at present facing south. She turns to her left and walks 15 m, then she turns to her left and walks 7 m.
Then facing west she walks 15 m. How far is Radhika from her original position? / AfeT ada= o E'F&I'UT P 3R
79 fd g 31 98 3 91 3R gadt @ SR 15 gad 3, fihe a5 oA ar oiiv gedt 8 ok 77 a3
= uffm $t 3R g@ fu gu 98 15 Fadt 81 If¥eT v arafde w3 et R 82

®* 3m
® 7m
® 20m
® 37m
Correct Answer :-7m

95)

Question Stimulus :-

Facing towards north, a Sadhu said, “I walked 10 miles, while coming from that direction. Now I would turn back and
walk for 5 more miles. There I would stand on my right leg for 7 hours. Then I would turn to my right and walk for 33
miles and then stand on my left leg for 14 hours. Then I would turn to my right and walk for 5 miles. By then it would
be morning and I would turn to offer my prayers to the Sun.” In which direction would the Sadhu have to turn to

offer his prayers to the Sun? /Wﬁﬁﬁﬁ?ﬂ@%ﬁ@,@ﬂﬂﬁﬁ, “ﬁwﬁmﬁaﬁgq, 101ﬂaaaa
Tell| 3 #/ 910" G 3R 3= 5 Hier T 981 # oo+l gl e W 7 9vet & R @sT e e A
SO Rt 3R FST o 33 #ial & forg acm ok b oot ardt ef1 wR 14 wvel F ot wst F1T fbe A
=it qrlY 3R GSTT 3R 5 WA TG 99 dF Yag &f M5 enit 3R § & g &Y gt wrefam rffa w1~
a1y B gd P 3=yl aiffa s & o @17 @ = # ge=r ghm?

* would have to turn back / U H&T §RII
* need not turn / S I Sd AGI

« to his right / 3= gAY ik

® to his left / gt SR 3R



Correct Answer :-to his left / 3Mq- IR 3R

96)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
A ot aF ot =R A TR A W vy & wuE @

If you play chess, then you are intelligent. / 9f¢ g9 Ia¥s @ad g1, df g0 §fGH™ il

® If you don’t play chess, then you are not intelligent. / afq TH R ¢ Wad gl, qq §@TI'F[ |
&l

* If you are intelligent, then you play chess. / af¢ gq gfga™ g, TH IS Qad gl

® If you are not intelligent, then you don’t play chess. /afe qH §'@TIFI Tl 8, qH T @ad
Gl

e None of the above. / ST PIg T8l

Correct Answer :-If you are not intelligent, then you don’t play chess. / afg qgH §'@TIF[ SR qq
Tl 81 Werd gl

97)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe

g &t ad @t =R | R 3 T Fy= & 9w §:

This was once a tadpole or this isn't a frog. It wasn’t a tadpole. / Ug W e ﬁw DT I=T AT
T U8 $Q3M LI &1 I8 Wed P g=T =g ATl

® This is a frog. / I8 $FT g1

® Itisn’t a frog./dg PF3T qﬁ%l

e All frogs are not tadpoles once. / It Caily Ht ﬁﬁ *» T -'-l?[ ﬁ?ﬂ
e None of the above. / SURIET Hﬁ's: Tal

Correct Answer :-Itisn’t a frog. / 98 HQaM 78! 2

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg ®Yq gﬁﬁ S
a3 T HyAY vd fAewuf & IR A 9 8



Statements: / ®YH:
No flower is a rose / &5 Wl Ba a8l 8
Lily is a flower / fadlt T o ?
Conclusions: / fAwpd:
I.Lily is not a rose / forell ts 7ama €Y @
I1.All flowers are not lilies / g od fereht T-Iﬁ%
® Only conclusion I follows / Fad faswy | Aeadr &
® Only conclusion Il follows | Pad fAsed 1 fAeadan %
® Both conclusion I and Il follows / fAsHt 1| 3R 1 Sl Aead %
® None of the conclusion I and Il follows / FIsBd | iR 11 # & HI5 +ft 71 Frwaar 8
Correct Answer :-Only conclusion | follows / ad sy | fArewear 8
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 $Y= g
3 T Hy=l vd el & IR A AL 7

Statements: / DY:

Some bags are boxes / T T 964 &

All boxes are tables / Tt IR A9 &
Conclusions: / fAwpd:

I. Some bags are tables / I. P9 AT

II. All boxes are tables / II. 94t S A9l &
® Only conclusion | follows | pad ey | Aeadar %
® Only conclusion Il follows | pad ey 1 e %
® Both conclusion | and Il follows / frsHd 1 3 1 I fAead %
® None of the conclusion I and Il follows / Y | 3R n & & ﬁé o Hﬁ IECNGI %

Correct Answer :-Both conclusion I and Il follows / fshd | 3% 1 = e €

100)



Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 &Y= gd it
&3 T Hy=1 vd Frewut & I | 98§

Statements: / ®YH:
All books are tables. / 9! fde oW &1
No Table is a chair. / ?ﬁi Qﬁﬁﬁﬁ?ﬁ%l

Conclusions: / e
I. All tables are books. / I &< fam 21
II. No book is a chair. / &3 W} frare Hif g1 81

® Only conclusion I follows / ae e Y | fPpadr &
e Only conclusion Il follows / dad farswy 11 fAHedr g
e Either I or Il follows. / TT @l 1 IT fpx 1 Frear 2

® Neither I nor Il follows. / =T a1 | 3R 7 &t 1l Pl &
Correct Answer :-Only conclusion Il follows / $ad fspy 1 fAreerar g



